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TNPSC DEO MAIN EXAM – 2023 
Mandatory test XI 

MODERN INDIA  & APTITUDE AND MENTAL ABILITY - III  
 

Total Marks: 300              Time: 3 hrs 
Section A 

15 x 10 = 150 
Answer the following in 150 words each 
 

1. Narrate the political contribution of C.N. Annadurai 
C.N. mz;zhJiuapd; murpay; gq;fspg;G Fwpj;J tpthpf;f 

 
2. Briefly explain about recent archaeological excavations in Tamilnadu 

jkpo;ehl;by; rkPgj;jpa mfo;tha;Tfs; Fwpj;J RUf;fkhf tpsf;Fs 
 

3. Elucidate the thoughts of Ayodhidhasa Pandidhar 
mNahj;jpjhr gz;bjhpd; fUj;Jfs; Fwpj;J tphpthf vOJf 

 
4. Discuss the significance of Vaikom Satyagraha. 

itf;fk; rj;jpahfpufj;jpd; Kf;fpaj;Jtk; Fwpj;J tpthjpf;f 
 

5. Write a short note on  
 
a. CCRT 
b. ICCR 

 
6. Examine the role played by Dr. Muthulakshmi Reddy to the legislation of women upliftment.  

ngz;fs; Nkk;ghl;bw;fhd rl;lq;fs; ,aw;Wtjpy; Kj;Jyl;Rkp nul;b Mw;wpag; gq;fpidg; gw;wp 
vOJf 

 
7. Evaluate the significance of V.O. Chidambaram in Indian Independence Movement 

,e;jpa tpLjiy ,af;fj;jpy; t.c. rpjk;gudhh; Kf;fpaj;Jtj;ij kjpg;gPL nra;f 
 

8. Examine the causes for the outbreak of Vellore Mutiny of 1806. 
1806Mk; Mz;L NtY}h; rpg;gha; fyfj;Jf;fhd fhuzq;fis Ma;f 

 
9. Write about the Civil Disobedience Movement in Tamil Nadu 

jkpo;ehl;by; rl;l kWg;G ,af;f epfo;r;rpfis Muha;f. 
 
10. Describe the services of the congress ministry under Kamaraj 

fhkuh[h; jiyikapy; mike;j fhq;fpu]; mikr;ruitapd; rhjidfis tpthp 
 
11. Write a short notes on Temple Annadhanam Scheme.  

Nfhapy; md;djhd jpl;lk; Fwpj;J rpWFwpg;G tiuf 
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12. What are the features of Political Parties of India? 
  ,e;jpa murpay; fl;rpfspd; rpwg;gpay;Gfis tpthp 
 

13. Answer the following 
 

a. Find the LCM and HCF of ( )
23 227, 3 , 9x x x− − −   (5m) 

( )
23 227, 3 , 9x x x− − −

 
Mfpatw;wpd; kP.ngh.k (LCM) kw;Wk; kP.ng.fh (HCF) fhz;f. 

 
b. The LCM of two numbers is 28 times of their HCF. The sum of their LCM and HCF is 1740. 

If one of the numbers is 240, find the other number. (5m) 
,uz;L vz;fspd; kP.ngh.k> kP.ngh.t Nghy; 28 klq;F. kP.ngh.k> kP.ngh.t tpd; $l;Lj; njhif 
1740 MfTk;> Xh; vz; 240 Mf ,Ug;gpd;> kw;nwhU vz;izf; fhzTk;. 

 
14. Answer the following 

 
a. A bag contains 5 red balls and some blue balls. If the probability of drawing a blue ball 

from the bag is thrice that of drawing a red ball, then find the number of blue balls in the 
bag. (5m) 
xU igapy; 5 rptg;G kw;Wk; rpy ePy epwg;ge;Jfs; cs;sd. mg;igapypUe;J xU ePy 
epwg;ge;ij vLg;gjw;fhd epfo;jfT> xU rptg;G epwg; ge;ij vLg;gjw;fhd epfo;jftpd; %d;W 
klq;F vdpy;> mg;igapYs;s ePy epwg;ge;Jfspd; vz;zpf;ifiaf; fhz;f 

 
b. Wilson, Mathan and Guna can complete one round of a circular track in 10, 15 and 20 

minutes respectively. If they start together at 7 am from the starting point, at what time will 
they meet together again at the starting point? (5m) 
tpy;rd;> kjd; kw;Wk; Fzh MfpNahh; xU tl;l tbtpyhd XLghijapd; xU Rw;iw 
KiwNa 10> 15 kw;Wk; 20 epkplq;fspy; Rw;wp Kbf;fpd;wdh;. mth;fs; njhlf;fg; Gs;spapy; 
fhiy 7 kzpf;F xd;whfr; Rw;wj; njhlq;fpdhy;> mth;fs; kPz;Lk; vg;NghJ njhlf;fg; 
Gs;spapy; xd;whfr; re;jpg;ghh;fs;?   

 
15. Answer the following 

 
a. From a well shuffled pack of 52 playing cards, one card is drawn at random. Find the 

probability of getting (i) a black king (ii) a spade card (iii) a diamond 10 
ed;F fiyj;J itf;fg;gl;l 52 rPl;Lfisf; nfhz;l rPl;Lf; fl;bypUe;J rktha;g;Gr; 
Nrhjid Kiwapy; xU rPl;L vLf;fg;gLfpwJ. me;jr; rPl;L gpd;tUtdthf ,Uf;f 
epfo;jfTfisf; fhz;f 
 
i. fUg;G ,uhrh  ii. ];NgL iii. lakz;l; 10 

 
b. Two unbiased dice are rolled once. Find the probability of getting   

(i) a doublet (ii) a sum greater than 8. 
,U rPuhd gfilfs; xU Kiw cUl;lg;gLfpd;wd. fPo;f;fhZk; epfo;r;rpfSf;fhd 
epfo;jftpidf; fhz;f 
i. Kf vz;fs; xNu vz;fshf (doublet) ,Uj;jy; 
ii. Kf vz;fspd; $Ljy; 8-I tpl mjpfkhf ,Uj;jy; 
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SECTION B 
10 x 15 = 150 

Answer the following in 250 words each 
 
16. Narrate the role of Periyar as a great social reformer. 

nghpahh; xU rpwe;j r%f rPh;jpUj;jthjp vd;gjid tpthpj;J vOJf 
 
17. Critically Analyze the works of Justice party to Tamil society 

jkpof rKjhaj;jpw;F ePjpf;fl;rpapd; gq;fspg;G Fwpj;J tpthpj;J vOJf 
 
18. Briefly explain the revolutionary activity in Tamilnadu during the course of Freedom Struggle. 

Rje;jpu Nghuhl;lj;jpd; NghJ jkpo;ehl;by; Gul;rp nray;ghLfis RUf;fkhf tpsf;Ff 
 
19. Briefly explain the various development programmes that the government of Tamilnadu has 

undertaken for women development. 
ngz;fs; Nkk;ghl;bw;fhf jkpof muR Nkw;nfhz;l gy;NtW tsh;r;rp jpl;lq;fs; gw;wp RUf;fkhf 
tpsf;Ff 

 
20. Estimate South Indian Rebellion 

njd;dpe;jpaf; fpsh;r;rp gw;wp kjpg;gPL nra;f 
 
21. Write a short note  

Fwpg;G tiuf 
 
a. Lalit Kala Academy 

yypj;fyh mfhlkp 
 

b. Sangith Natak Academy 
rq;fPj ehlf mfhlkp 
 

c. Sahitya Academy 
rhfpj;a mfhlkp 
 

22. Write a short note on 
Fwpg;G tiuf 
 
a. Boodhan Movement 

G+kpjhd ,af;fk; 
 

b. Sarvodaya Movement 
rh;Nthjah ,af;fk; 
 

c. Panchasheel 
gQ;rrPyk; 
 

23. Examine the relevance of NAM in the present new International Political Order? 
  jw;Nghija cyf epWtdk; vd;w Kiwapy; mzpNruh ehLfspd; nghUj;jj;ij tpthpf;f 
 

24. In a class of 50 students, 28 opted for NCC, 30 opted for NSS and 18 opted both NCC and NSS. 
One of the students is selected at random. Find the probability that 
The student opted for NCC but not NSS.  
The student opted for NSS but not NCC.  
The student opted for exactly one of them. (15m) 
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50 khzth;fs; cs;s xU tFg;gpy;> 28 Ngh; NCC apYk;> 30 Ngh; NSS Yk; kw;Wk; 18 Ngh; 
NCC kw;Wk; NSS Yk; Nrh;fpwhh;fs;. xU khzth; rktha;g;G Kiwapy; Njh;e;njLf;fg;gLfpwhh;. 
mth; 
i. NCC apy; ,Ue;J> Mdhy; NSS ,y; ,y;yhky; 
ii. NSS ,y; ,Ue;J> Mdhy; NCC apy; ,y;yhky; 
iii. xd;Nw xd;wpy; kl;Lk; Nrh;e;J 
,Ug;gjw;fhd epfo;jfTfisf; fhz;f 

 
25. Answer the following 

 

a. Find the LCM & HCF of 
1 5 2 4

, ,
3 6 9 27

, 
7

81
 

1 5 2 4
, ,

3 6 9 27
, 

7

81  
Mfpatw;wpd; kP.ng.fh (HCF) kw;Wk; kP.ngh.k (LCM) fhz;f. (9m) 

 
b. The GCD of  x4+3x3 + 5x2 + 26x +56  and x4+2x3 - 4x2 - x +28 is x2 +5 x +7   Find their LCM. 

(6m) 
x4+3x3 + 5x2 + 26x +56 kw;Wk; x4+2x3 - 4x2 - x +28 Mfpatw;wpd; kP.ngh.t x2 +5 x +7 vdpy;> 
mtw;wpd; kP.ngh.k-itf; fhz;f 

 
 
 
 

 


